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Q.No: 1  Humus is what kind of component in Soil?
2426884
TgHE &l & 59 YR 371 9T 32
Nutrients
A
Ve ad
Rotting Dead Matter
B
TS §Y 74 e
Loam
G
L
Gravel
D
Jaqa

Correct Ans : B

Subject : General Knowledge

Q.No: 2
2426918

Which of the following is not a Bhakti saint?

Froffea # § o id ga 78 32
Chaitanya

T

Jnaneshvara

AR

Baba Farid

EIcIR iy

Kabir

FER

Correct Ans : C

Subject : General Knowledge

Q.No: 3
2426938

Which statement is not correct about Sangam age?

T G F IR T D A HUH T T 72

Three kingdoms existed during Sangam age.

T T & R A I Hieg A

The status of women was equal to that of men.

witael 3 Rl gl & SRR ot

Agriculture was the main occupation.

P 1 ™ Ul

There was extensive trade with foreign countries.
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o= & W S AR ATl
Correct Ans : B

Subject : General Knowledge

Q.No: 4 Which is a wrong statement about Gulbadan Begum?
2426950

TAEEA ST F IR F B 6 U Tod 82

She wrote the book Humayun Nama
A

TG g, T g ferdt

She was the daughter of Babur
B

g IR B 4

She was the wife of Aiman Khwajah Sultan
C

a8 QA Tl Geae Bt Ul

She was the sister of Humayun
D

g g @t 7 ot
Correct Ans : C

Subject : General Knowledge

Q.No: 5 Dhangari Gaja is a folk dance of which state?
2427006

TIRY ST fo5T RIS T p 7 § ?

Punjab

LEiC)

Rajasthan

SR

Karnataka

Pled

Maharashtra

Correct Ans : D

Subject : General Knowledge

Q.No: 6  Srimanta Sankardeva is the founder of
2427018

faveea P @ gl
Bihu
A
fog
Satriya Nritya
B
et
Bagurumba
C
Ly
Jhumur Dance
D

TRIA
Correct Ans : B

Subject : General Knowledge



Q.No: 7 In which Commonwealth Games India did not participate?

2427499
HRA 7 e TpHsa @ # W ot e
1958
A
1958
1962
B
1962
1982
o
1982
1990
D
1990

Correct Ans : B

Subject : General Knowledge

Q.No: 8 In which year was the first edition of IPL played?

2427504

IPL %1 UgqT §eavr oo af G i

2007
A

2007

2008
B

2008

2009
C

2009

2010
D

2010

Correct Ans : B

Subject : General Knowledge

Q.No: 9 With a projected GDP growth rate of 43.48% in 2020, which is the fastest growing economy in the world?
2428889

2020 H 43.48% ! I SHS faerd @R & WY, g & 9aF ot § 9 anclt orferawn $19 9 §2

Ethiopia
A

ZRrdftrar

Guinea
B

e

Guyana
C

T

Ireland
D

RS

Correct Ans : C

Subject : General Knowledge

Q.No: 10 Which of the following is true about Thomas Cup?
2430499

i HY & R H Fefifea 3 § o[ o 9 82



A This is the World Women's Team Badminton Championship.

75 fay wiiven & SsfifeT AfrARm 21

This is the World Men's Team Badminton Championship
B

75 fry 7oy A Ysfies AR §

This is the World Men's Team Tennis Championship
C

T fay gou @ 2 SRmARE §

This is the World Men's Team Table Tennis Championship
D

Tg Ty gou @0 2ua ¢ SmRu §
Correct Ans : B

Subject : General Knowledge

Q.No: 11 What is considered a non-performing asset?

2434049

R Fefea afeafy &8 wm o § 2

Property on which interest/principal is outstanding for 120 days
A

I8 Wufd o W s/ gEe 120 i q@ e d

Property on which interest/principal is outstanding for 30 days
B

a8 Hufy e W s/ gaeE 30 R 7 a@m 8

Property on which interest/principal is outstanding for 60 days
C

Tg Yl o W =1/ 60 Al % s@rr gl

Property on which interest/principal is outstanding for 90 days
D

9% Hoftr oy W g1/ 9@ 90 3T o samEr @)
Correct Ans : D

Subject : General Knowledge

Q.No: 12 What is the name of the Museum of Fine Arts in Bharat Bhawan of Madhya Pradesh called?
2441038

T TN F URA HaA H Tferd He IRTer™ 1 @ A g2

Vagarth
A
e
Rangmandal
B
e
Roopankar
(o]
FiBT
Chhavi
D
By

Correct Ans : C

Subject : General Knowledge

Q.No: 13 In 2021, the edition of the Khajuraho Dance Festival was held.
2441053

2021 H, WRIE! T Helwd PT TR SIS foar T T

44th
A

443

B 47th



479

49th
C

499

52nd
D

523

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Madhya Pradesh Rangotsav is held in -

2441075
T TN Wilegd SMriford fear St & #-
Khajuraho
A
R
Chhindwara
B
fbearst
Bhopal
C
ot
Ujjain
D
EEkl

Correct Ans : C

Subject : General Knowledge

Q.No: 15 Where is the only Jama Masjid in India without minars found?
2441354

o1 AR a1t YR B T HE S Aie el U S 87

Bhopal
A
*iare
Alirajpur
B
SfefRTeTgY
Chanderi
(o}
=
Sagar
D
R

Correct Ans : C

Subject : General Knowledge

Q.No: 16 Which of the following cities shelters the monument that inspired the Taj Mahal?
2441374

Froffaa & § o1 3 IR 3§ domed &1 IR FR aTa WRS R 37

Vidisha
A

fafe=m

Mandu
B

Ag

C Burhanpur



Orchha

3R\T

Correct Ans : B

Subject : General Knowledge

Q.No: 17  Asia's thickest coal seam is located in which district of Madhya Pradesh?

2441646
iR &1 el Hier S G&R A UQ S b e § fRud g2
Singrauli
A
Rt
Anuppur
B
SR
Rewa
C
Jar
Sidhi
D
Rt

Correct Ans : D

Subject : General Knowledge

Q.No: 18 In Madhya Pradesh, new units with fixed capital investment of more than INR1000 million (USD 20 million) will be given entry tax exemption for a period of how many years?
2441655

TR # ¥, 1000 fAfrET (UsD 20 faftr) A ofie & PRT el Faw arh 7 sorsdl @t f asf 3 s@fl & fe waw a2 ge & smof?

3 years
A

3af

7 years
B

73§

11 years
C

119

1 year
D

13§

Correct Ans : B

Subject : General Knowledge

Q.No: 19  Where is the CIPET Centre for Skilling and Technical Support located in Madhya Pradesh?

2441668
ey e & Wiie (CIPET) Her R kel T fdema qurd oel fua 82
Indore
A
R
Bhopal
B
e
Harda
C
&
Rajgarh
D
BT

Correct Ans : B



Subject : General Knowledge

Q.No: 20 Since which year is Madhya Pradesh Industrial Development Corporation been acting as the Single Window Secretariat for Investment promotion and facilitation in the state?
2441682

T R i fawrg fm faw af & rsw & A e ofR gfaer & o tea fage wfaray & wu & #1 o @1 32

1999
A

1999

2004
B

2004

2009
C

2009

2014
D

2014

Correct Ans : B

Subject : General Knowledge

Q.No: 21 The untreated sewage which is unfit for drinking causes serious diseases such as-

2422812

SATARG WA St 1A & e srgug g, iR SR o1 sRor ar § SR-

Cough
A

Eeitii

Rabies
B

W

Syphilis
C

el

Typhoid
D

TRPIRS

Correct Ans : D

Subject : General Science

Q.No: 22 Which of the following microorganism is a bacterium and enters through the open wounds so as to cause water-borne disease?

2422814
Frofefaa & 3 i a1 g ofta o Sty § iR @@ urdi & A1 A w3 Hyar 8 R st wiid 3 g 8-
Clostridium botulinum
A
RIS gl
Naegleria fowleri
B
FTeRAT BIIeN]
Microsporidia
C
RIS
Giardia lamblia
D

forsnfSar e

Correct Ans : A

Subject : General Science

Q.No: 23 What is the most effective way to avoid water pollution?
2422823



A YU Y T4 $1 G9H FRIR U T 3?2

Garbage should be thrown in open areas

A
FR B G &1 B B faar S Aty
Exposing the oil spills to the nearby water bodies.
B
Frpead! o el # 9 e B SR Fl
All the industries should treat their waste prior, elimination of it into the rivers.
(o}
Tt TRl DI 30 PR BT AR H TH F | gl IHHT SUAR AT T
Farmers should increase the use of pesticides and insecticides.
D

Ul B! P! R BleARIE! B IUUNT TgMHT AT

Correct Ans : C

Subject : General Science

Q.No: 24 The decrease inthe ______ may lead to internal haemorrhage.
2422984
_ ol offaRe e € 9 3
Plasma volume
A
Plasma AT
RBC count
B
RBC fiFd
WBC count
C
wac fh
Platelet count
D

Platelet fFelt

Correct Ans : D

Subject : General Science

Q.No: 25 Typhoid is caused by which pathogen?

2422989
TRWIES frw A @ ghar 82
Hepatitis virus
A
Fiesiw aRY
Mycobacterium tuberculae
B
AP qfes
Salmonella typhi
(o}
e TRwI
Vibrio cholerae
D

fafsrdt Prerr

Correct Ans : C

Subject : General Science

Q.No: 26 Where was the first case of swine flu reported?

2422993
T WY, BT UGl T Be Gof (T 7T 412
Mexico

A
AfRgepr



India

HRd
Africa
C
JBIBT
USA
D
ST

Correct Ans : A

Subject : General Science

Q.No: 27 Lucky asks her mother about when is Kharif crops are grown:
2428008

T I H A gt § 5 T B woa o TS o

winter
A

udf

summer
B

it

spring
C

oG

rainy
D

R

Correct Ans : B

Subject : General Science

Q.No: 28 Class fungi are with respect to the mode of nutrition.
2428017
Gy & T & Ay A af daw g
decomposers
A
SHUeR
scavengers
B
TPTIR
parasitic
(o}
TReidt

coprophilous

Egpuiasc

Correct Ans : C

Subject : General Science

Q.No: 29 Who is called the father of biology?

2428777
ofia fagm &1 e 5l Tt oar 32
Theophrastus
A
R
Aristotle
B
SR

C Carl von Linnaeus



Pt I e

Darwin

SR

Correct Ans : B

Subject : General Science

Q.No: 30 Arrange the taxonomic hierarchy in the descending similarity.

2428798
TFANAS YTIHH P SHavig! FHFdl H Fafyd e
species, genus, family, order, class and phylum
A
T, S, ORER, oo, @ 3R BRaT
species, family, phylum, order and kingdom
B
welf, URaR, ¥, 8 SR AmHe
genus, family, class, order and phylum
C
S, TRaR, &, s 3R wieaw
species, order family, class and phylum
D

TSI, MR URaR, i SR ww

Correct Ans : A

Subject : General Science

Q.No: 31 is caused by drinking river water contaminated with wastewater.
2428999
S{ufRry St ¥ gt 7 & Ol @1 4 S PR g gl
Covid 19
A
Fifds 19
Polio
B
golfert
Dengue
C

37

Dysentery

e

Correct Ans : D

Subject : General Science

Q.No: 32 Which of the following are not the precautions to be taken to prevent the spread of diseases through water?
2429001

& mem & M S TER A6 F o Fofaiea § 4 F9 @ seafan T8 b et afkee

Use clean water to brush your teeth, wash and prepare food.

A

T iAol B I HA, HIH IR He IR 4 F g 9 o o1 R )

Wash your hands with soap and clean water before eating, cooking, and feeding children.
B

Tl P WM, TEA SR A ¥ e o gy W AR 9w e & e

Ensure water is not accumulated around houses.
c

R X & R S S gt o T 8N

D Use chlorinated water for drinking purposes.



11 & R i o &1 R
Correct Ans : D

Subject : General Science

Q.No: 33 The harmful as well as toxic waste of the industry will be released in the river. Which of the following is not the effect of this toxic waste ?
2429008

I BT gINPRS IR Sgden Fav1 Tet F Bist e By & § $H 39 g F 3T 99E T 82

This would lead to water pollution.

A
T ST T T
These substances make the water impure to use and unfit for drinking.
B
3 ugr uF F1 A F 1Y S SR Ui & R erguged S B
It will also lead to the destruction of marine life.
C
T W} Sfta 1+ oA Em
It will also cause communicable diseases.
D

T T A of €
Correct Ans : D

Subject : General Science

Q.No: 34 is commonly used in making bread and other bakery products.
2430043

AR W §g 3R 3T I8 IdAIG §9H H __ ITERT b Siar g1

Mushroom
A
=T
Bacteria
B
Eedine
Yeast
(o]
|HR
Fungi
D
Pah

Correct Ans : C

Subject : General Science

Q.No: 35 When natural gas is compressed at high pressure, it is called 5

2430073
T TP T P I 7w R i frm ey, AE_ #ed ¥
CNG
A
ot
LPG
B
et
PNG
c
ol
TNT
D
&t

Correct Ans : A

Subject : General Science

Q.No: 36



2422451 Ram is the father of Ramesh. Banu is the mother-in-law of Ram. Banu’s mother is Bhasu, whose husband is Pratap. How is Ramesh related to Pratap?

M, T BT O §1 9F W @ 99 71 9 @A 9§, RS ol war 1 @ wa @ 59 ver d6fl 82

Grandson
A

Trar

Maternal great grandfather
B

9 T

Nephew
(&

et

Maternal grandfather
D

A
Correct Ans : B

Subject : General Reasoning

Q.No: 37 Raman is the only son my father. Dipti is the daughter -in-law of Raman’s father. What is the relation between Raman and Dipti?
2422473

I TR e &1 SHan OF 71 i ¥ & i o5t 9 31 0 ok ity & e @ ey @2

Husband
A

ufy

Father -in-law
B

g

Daughter-in-law
C

S§

Mother-in-law
D

g
Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the wrong term in the series?

2422586
5,9, 15, 23, 34, 45, 59
S § e H BT Uell a2
5,9, 15, 23, 34, 45, 59
34
A
34
a5
B
45
59
c
59
23
D
23

Correct Ans : A

Subject : General Reasoning



FIIU UIE WIULY LS I L SE1HED T

Q.No: 39
2422606
121, 225, 361, 625
4gal 7 TTed shH P Ul TR
121, 225, 361, 625
121
A
121
361
B
361
225
C
225
625
D
625

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Find the odd word out.

2424511
SR Xeq BT T BIoT
Chennai
A
¥
Lucknow
B
TETH
Kolkata
C
EacEac)
Delhi
D
feeelt

Correct Ans : B

Subject : General Reasoning

Q.No: 41  Find the number of triangles in the given figure.

2425645
A
N>
Y 3pha § Biye 3 e w1 SR
AR
>/
12
) 11



13
14

14
Correct Ans : C

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426292

LKJ : MNO :: DCB : ?

I SHER-TIE BT 0 X off AR 3HeR-g F It UHR Tefld § I qU 3eR-TE, U SHeR-Tg & Wafd B

LKJ : MNO :: DCB : ?

FEG
A

FEG

EGF
B

EGF

FGH
C

FGH

EFG
D

EFG

Correct Ans : D

Subject : General Reasoning

Q.No: 43 Select the option /number which is related to 31 number in the same way as 224 number is related to a

2426392 | ot number?
5:27%1:?
3H TEAT /e H 99 S A SE0 FE § 3H ISR FEOd § S gl §EAr 9gel
TE @ wERT ¢ |
5:27%1:?
17
A
17
4
B
o
6
3
D
3

Correct Ans : D

Subject : General Reasoning

Q.No: 44 [
2426413
L.
0.025
A
0.025
2.5
B
2.5



0.25

0.25
0.0025

0.0025
Correct Ans : D

Subject : General Reasoning

Q.No: 45 In the given diagram, Circle represents black eyes, Triangle represents grey hair and Rectangle represents tall peoples.
2426557

7
° /10

3/ . 48
1 6

2 1"

How many peoples are tall with black eyes and grey hair?

fw g o H, g Sl S @1 i FRar §, By o Tl @ vl wvar § iR smaa | |t @1 ufafafda e g1
1 6 8
‘ 2 n !

Pt i SR X STl are e w82
11

u

(]

Correct Ans : A

Subject : General Reasoning

Q.No: 46  Which of the following diagram indicates best relation between Alphabet, Word and Sentence?
2426602

Frofafea & § $H-T1 3@ qufre, Weg ok a9 & d 9ad o Yay B gl 87

@
@
C



©
©

Correct Ans : D

Subject : General Reasoning

Q.No: 47 What should come in place of question mark (?) in the following question?

2429533
HIT : SRG :: ? : POU
Fufef@a vy ¥ vy 7 (2) & ”MA R F1 9F 31 91feT ?
HIT : SRG :: ? : POU
JKL
A
IKL
KLG
B
KLG
KLF
c
KLF
KLH
D
KLH

Correct Ans : C

Subject : General Reasoning

Q.No: 48 Ram is the son of Mohan and the brother of Ramesh. Shreya is the daughter of Shweta and the sister of Ram. How Shweta is related to Mohan?
2429572

W, e BT I 3R AW B 91 ¢ 51, A B G iR I Y 57 21 e, Hied § 59 ueR weifta 32

Wife
A

A

Daughter
B

el

Sister
C

@

Father
D

i

Correct Ans : A

Subject : General Reasoning

Q.No: 49  Which answer figure will complete the pattern in the question figure?

2433194
O [*)
o °
g
?
o

B W IR ST, T BT 7 e 1 ol ity



()

Correct Ans : B

Subject : General Reasoning

Q.No: 50 Identify the figure that completes the pattern.

2433490
? o
ot

I NPT Pt UgTH B Sl Ui &1 g Bt g1
s
59

D
D
=
&



o]

o] |at]

o]

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Select the option that is related to the fourth number in the same way as the second number is related to the first number.
2434885

53:8::?:5

I ey &1 797 B S It Tem @ I YR Gafa § o gt wem, vel Sem @ el 21
53:8::?:5
15

15
21

21

23

23
37

37
Correct Ans : C

Subject : General Reasoning

(22‘.‘1\‘1‘(315729 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If I get late, Teacher will punish me.
A. I got late
B. Teacher punished me

C. Idid not get late

D. Teacher did not punish me.

o 7T vy & 9@ U SR IS 91 IR B 81 FUA! BT B g T, T8 18d YA F1 Al g U § 8, 3R & U Aifhe U F 981 FUH F 9 B
SR T X 8 T, A Riee g3 s 3

TRRATE

o e 7 g1 <fsa R

CRRTE

D. e 7 93 <3 7 feam

AB

AB
BA

BA
C AD



AD
cD

CcD
Correct Ans : A

Subject : General Reasoning

8.!\2):25131 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
4 If the movie is released, it will create controversy
A. the movie was released
B. the movie was not released

C. it created controversy

D. it did not create controversy

o T vy § g1 FU SR ITF GG TR FUA g1 U BT B g W, T8 U B 1 A g FU g, iR @ T difbE w U BT U S W 71
3R frer fRefier gt &, o e faare e v

A. T feefier g8

B. foren feiier =&t g8 ot

C. 39 faare der fsan

D. 39 faare a1 7 foman
AC

AC

BC

BC
DA

DA

cD

cD
Correct Ans : A

Subject : General Reasoning

(22vNcg2548 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
4a028 If literacy rate does not improve, the UN will stop funding
A. literacy rate did not improve
B. literacy rate improved

C. the UN stopped funding

D. the UN did not stop funding

o M gy B 9 FF SR IS T16 TR HUF § | HYH BT B G T, T8 Ted HUA BT AR GEL BUA W 7, R & FUA dlbP U § BT FUA I W 7
HI&RAT R H YR & gon o WG Y (UN) HS & 88 IR &M

A. &R R GUR e g

B. I&Rdl X H GUR

C. Tgw W AT IT &

D. TgH Y (UN) 3 e &g 7eF at

BD
A

BD

BC
B

BC

DA
C

DA

no



DB
Correct Ans : D

Subject : General Reasoning
Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.
2441951

GIKN : HKNR :: DGIK : ?

I fapeq 1 797 B S RN U § I ToR Tafa § R TPR g1 U U8 Ue ¥ ala ¢ |

GIKN : HKNR :: DGIK : ?

EHLO
A

EHLO

EILO
B

EILO

EHMO
C

EHMO

EIMO
D

EIMO

Correct Ans : B

Subject : General Reasoning

Q.No: 56 gimplify: 70-65+13 %3

2422336
A DI 70-65+13 x 3
45
A
45
50
B
50
54
Cc
54
55
D
55

Correct Ans : D

Subject : General Maths

Q.No: 57 - gimplify: 42 +[82 + {59 - (34 - 16)}]

2422361
A B 42 +[82 + {59 - (34— 16)}]
165
A
165
81
B
81



83
84

84
Correct Ans : A

Subject : General Maths

Q.No: 58 Manjit deposited Rs.8650 with a finance company for 2 years at an interest of 7% per annum. What is the compound interest that Manjit gets after 2 years?
2423598

Tiofld Y U o Suh & I 7% Ui 9 F o W 2 9a F e 8650 b St w1 Held @1 2 9 a1g fasa gl sarer v 22

Rs.1253.385
A

Rs.1253.385

Rs.1455.779
B

Rs.1455.779

Rs.1789.780
C

Rs.1789.780

Rs.706.45
D

Rs.706.45

Correct Ans : A
Subject : General Maths

Q.No: 59 1
2423613 Garima took a loan of Rs.28900 against her insurance policy at the rate of 142% per annum. Calculate

the total compound interest payable by Garima after 2 years.

RT3 T 28900 T A 14596 T e W FET AT fere 25 ey ot foram) R g@wr 2

& dle; & Frel Ushg & 1ol el 10Tl &t |

Rs.2270.7654
A

Rs.2270.7654

Rs.2345.7261
B

Rs.2345.7261

Rs.8988.6225
C

Rs.8988.6225

Rs.3190.9876
D

Rs.3190.9876
Correct Ans : C
Subject : General Maths

Q.No: 60 Solve:
2428578

{56 x5 -200f10 +2 x 10 - [45+9 + 56 + 8 -3 x 7 + (36 of )]}

B PR
(56 x5 - 10 FT20+2x 10-[45+ 9+ 56+ 8 -3 x 7+ (5 & 36

70

70



73
C

73

=73
D

-73

Correct Ans : B

Subject : General Maths

Q.No: 61 Average of five events is 40. And average of 2 events is 70 and average of two another event is 65 find the third number?
2432518

oig g7 &1 3d 40 B1 SR 2 geish &1 3fd 70 § ok & o wesll @1 ofiva 65 1 Rt we 3 Fifne?

50
A

50

70
B

70

90
C

90

110
D

110

Correct Ans : B

Subject : General Maths

Q.No: 62 350 x 350 + 150 x 150 + 2 x 350 x 150 is equal to

2434684

350 x 350 + 150 x 150 + 2 x 350 x 150 &I HM I B3|

360000
A

360000

490000
B

490000

250000
C

250000

160000
D

160000

Correct Ans : C

Subject : General Maths

Q.No: 63 1 4 1
Xx—== =
2434738 ¥~ =4 604 the value of ¥ T

A =R+ o A T B

305
A

305

322
B

322

c 350



375

375
Correct Ans : A

Subject : General Maths

Sﬂ‘i{,‘lﬁ If x2—4x + 1 =0, then find the value of (x)6+ %6- .
X

1
i x2 — 4x +1 =078, dl (x)5+ @° DI AF J1d PRI

2702
A

2702

5774
B

5774

2706
C

2706

5776
D

5776

Correct Ans : A

Subject : General Maths

%"\‘3‘;26059 If by selling an article for 390, a shopkeeper gains 20% then the cost price of article is

Ife 5t gPTER B TP avg B TUY 390 W FI W 20% DI G giell B, Al a¥g Bl HA-Ted §

324
A

324

321
B

321

323
C

323

325
D

325

Correct Ans : D

Subject : General Maths

Q.No: 66 Aparna purchased two mixers for Rs. 1500 and made a profit of 9% on one and loses 6% on the other. But overall there is no profit or loss, then the cost price of mixers are in
2435229

SOuif ¥ 1500 ¥98 H € IR T 3IR TF W 9% FT AIH FHET G441 g R I 6% FT ITHUH gl AF Fa Fiemax o1 ary a1 g1 et g3, o ARR & ana Jeg § S[Ua 91d Sifere:

5:6
A

5:6

3:4
B

3:4

2:3
C



2:5
Correct Ans : C

Subject : General Maths

Q.No: 67 A shopkeeper sold a chair at a loss of 17%. Had he sold it at Rs. 338 more he would have obtained a gain of 9%. What is the cost price of chair?
2435289

TF GHMGR 3 TF Tl 17% P g1 TR 3011 afg ST 39 338 08 3ifd § a1 i, off I 9% &1 A Sl T 37 % ed 1d Pifg?

Rs. 1440
A

1440 303

Rs. 1500
B

1500 397

Rs. 1250
C

1250 ¥0%

Rs. 1300
D

1300 70

Correct Ans : D

Subject : General Maths

Q.No: 68 Which of the following is the largest fraction?

2437467
g  $H 1 T 7971 i 82
To
A
To
Too
B
Too
_—
1000
C
2
1000
Too
D
Too

Correct Ans : A

Subject : General Maths

Q.No: 69 Convert.12535 in simple fraction.
2437487 112545 p

0.125% B YR A H Fe|

o
g

w
w
o

w
w
a

w
o
)
—

u
w
o
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Correct Ans : A

Subject : General Maths

.No: 70 3 s ) . .
8437547 Ifa= -i and b= a.}hen which of the following does not lie between a and b?

IR a--3 g b3 B AP H B 2 iR b dra R

2
s
A
2
s
7
9
B
_7
9
0
c
0
1
D

1
|-

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘SPARK’ is written ‘TQBSL’ then ‘FLAME’ will be written in the same language as?
2422536

I freft wisfaw v & o 1 Sagdivaua fran S € o w1 Sty 7 ferar smom o

GMBNF
A

GMBNF

GNBNF
B

GNBNF

GMCND
C

GMCND

GMBMF
D

GMBMF

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘CAT’ is written *CNANT’ then ‘GOD’ will be written in the same language as?
2422566

T it Widbfoe Wi H 'CAT' BT 'CNANT' foraT 9T a1 *GOD' 31 It HIeT # feran g forrdi?

~Aann



PPV

GODN
GNOND

GNOND
GOND

GOND
NGOD

NGOD
Correct Ans : B
Subject : Mental Ability

Q.NZOI 73 In a row, Divya is 23 from left end and Samiya is 28% from right end. When they interchange their
2425584 position respectively, then Divya becomes 31 from right end. Then what will be Samia position from
left after interchanging?

e ufda 7, foam o BR § 234t &k Wit gl B8R ¥ 288 ®F W 7, 99 3 HHA: HUAT RIF 9ad § of o g R ¥ 31a 8 o 81 df 91 § it &1 = a1 geme

22
A

22

23
B

23

21
C

21

25
D

25

Correct Ans : C

Subject : Mental Ability

Q.No: 74 If MINJUR is coded as 312547 and TADA as 6898, how can MADURAI be coded?

2426502

Ifg MINJUR &1 312547 3iR TADA 1 6898 & U # SifSd fasar ST B, &f MADURAI &1 & $ifed fdmar 1 e g2

3498178
A

3498178

3894871
B

3894871

3849781
c

3849781

3894781
D

3894781

Correct Ans : D
Subject : Mental Ability

Q.No: 75 If in a certain language, GRASP is coded as BMVNK, which word would be coded as CRANE?
2426532

i wa Ffdd ueT H, GRASP &I BMVNK, & &1 8 SIf$d fdar oran g, o fa wrss &1 CRANE & w9 & $if$d far smem?
FUDQH

FUDQH



B HWFSJ

HWFSJ

GVERI
C

GVERI

XMVIZ
D

XMVIZ

Correct Ans : B
Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430217 the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: In India, the incidence of stomach cancer is very high, while that of bowel cancer is very low. But Indians immigrate to Japan, this is reversed - the rate of bowel
day by day in the next generation. All this is related to nutrition - the diets of Indians in Japan are different from those in India.

Conclusions:
1. The same diet as Japan should be propagated as India also.

II. Bowel cancer is less severe than stomach cancer.

frofaraa ush #, & Fu= 31 fshy 1, 11 BT 3R R § 1P ST S W IR 31 g, 4 €1 3 SHaR W 1d qedt & weita €9 @) amues) i fu e o & afe; e € d 3Far =

FYT: URA H, U2 F HW 3 gl g T §, Tafd o FIR 3 et 9gd FH 1 A yRedia arvaredt St SIame S §, 961 TR 3931 I Bl © - i SR P R dg ol § Al opTedt o
T § - SUM § URAG! BT SMER, HRA & AT Y T B

Fren:
1. SUM & GO H1ER $T YR § o} TaR faan s agul
1L 9 & HER Bt go H ofF Fw o iR gar 21

Only conclusion I follows

A
Fad sy 1 SR Far §
Only conclusion II follows
B
o P 11 R0 SR §
Either I or II follows
C
A I A7 1T SR Hel §
Neither I nor II follow
D

T I 3R T 1T SR B §
Correct Ans : D
Subject : Mental Ability

Q.No: 77 1In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430246 the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: The President of BIP indicated that 15 independent Members of Legislative Assembly are seriously considering various options of joining many political party. But
only.

Conclusions:
I. The 15 independent MLAs will join BIP in a very short period of time.

II. The 15 independent MLAs will join many other political parties in a long period of time.

Frafafda usf &, 3 Fu Q) FsHd 1, 11 $7 SFIR0T IR § TS G Syl TR IR e g, 4o @ 3 SaR W I al & wedia 8 @1 ot B e e syt & afe; e g1 df 3t Tgm

P YIS F Heel ¥ Whd R 5 faum ww & 15 Al vew o Iorifae <ol § e 89 & fftm feed w wiiRar 3 faR 3R 38 ) Al ol ot 5ra 3 § it Ifee S e @ ur
Frep:

1. 15 fdeia faurre aga &0 v § v F it g

11. 15 el faumas 49 wma & &% o Aorifos ol & wfia S

A Only conclusion I follows



Faq Y 1 SR Tl &

Only conclusion II follows

B
Fraat Frea 11 SR R &
Either I or II follows
C
A I 97 1T SR Hell §
Neither I nor II follows
D

A 1 AR & LT R R §
Correct Ans : C

Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435459 (onclusions logically follows from the given statements.

Statements:

I. All papers are files.
II. All files are pens.
Conclusions:

I. All papers are pens.

II. Some pens are papers.

F Ry T vy F & U SR 3P g @ P 1 9iR 11 Ry e ¥ st Ry T ol B U AR 7, 91 3 IARd: 91d 9 3 i el S 8, smaat fofa @ ¥ 5 faw e e 4 o
L 9+ IR wIsa g

11 i e O §)

e

L 9+ TR T §

1L $8 T IR §l

Only conclusion I follows.

Faa ey 1 g FRar g

Only conclusion II follows.

Fad ey 11 SFFER H3at g1

Both conclusions I and II follows.

2 Frepd 1 3R 1T 3FRY FRa €

Either conclusion I or II follows.

T &t freedf 1 a7 11 SR R B
Correct Ans : C
Subject : Mental Ability

Q.No: 79 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known
2435519 from the statements.

Statements:1) All prizes are medals.2) Some prizes are certificates.
Conclusion:

1. Some certificates are prizes.

II. Some medals are prizes.

III. Some certificates are medals.

T T oAl SR Frsee 91 erFgde® afeu 9 WA §T 6 Pl 7 € IS SR 9 8, e 8 95 9w 9 ad! ¥ i vl 81, 73 i 5 Ry e Pl # 3 o 91 oud o1 aifbe sl 3
P

1) 9t QPR U B

2) T9 TRGR YA 9F T

e

1. S YAV 0 &R



11. $9 UG &R 3
111. $© UHI0 0 U5 §

Only conclusions I and III follow.

A
Fad fwpy I 3R IIT 3R A g
Only conclusions II and III follow.
B
Faa Y 11 3R 111 TR0 7Ra &
Only conclusions I and II follow.
C
e e I 3R 1T SRR #3a T
All conclusions I, II and III follow.
D

Tuft fspf 1, 11 SR XX SRR R §
Correct Ans : D

Subject : Mental Ability

‘22;‘"‘302;5?2 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
P>Q<R=MR=2F
Conclusions:
I.LF<Q
II. P2M

fFafoid 93 &, Fuat & arg fosed G 7w §)

U 1T &yl & YR TR TAshy T 3edger Y 3 TS 3ok & §9 & 39ged fathed 7 a9 H
Y

P2Q<R=MR=F

oo

LF<Q

II. P2M

Only conclusion I is true

A
Faa ey 19T ]
Only conclusion II is true
B
Faa ey 11 9T §
Either conclusion I or II is true
C
qd Y 1A v
Neither conclusion I nor II is true
D

TAHT I IRTHITTTR
Correct Ans : D
Subject : Mental Ability

c2221N308:58613 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
B>C=D2X
Conclusions:
I.B>X
II.C=X

TFATIREd 93 &, FUAT & dIE vy 8T 17 §)

T 1T Ferell & TUR W sy T 3reader i 3 AT Socl & &9 & 39gad [awed & a0+ H{|
FUeT:

B>C=D2X

o

L.B>X

I.C = X

TF Anbu Canclucian T ic frna
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Foa P 19a Y

If only Conclusion II is true
B

Faa ey 11 IT R

If either. Conclusion I or II is true
C

gafei I sad

If neither Conclusion I nor II is true
D

A1 ARARIITTR
Correct Ans : A
Subject : Mental Ability

‘22";“3"8:58922 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
H<J=K<I
Conclusions:
ILH>I
I.LI <K

TAFATITET 9 &, HUAT & arg, foivay G arv g

T 9T &Y= & HUR W AFT & o0+ H1 AT 39 3ec & F9 F 39gad faded F 99 B
Fu

H<)=K<I

forsad:

LH>I

ILI<K

Only Conclusion I follows

A
e e 1w ¥
Only Conclusion II follows
B
Faa el 1w ¥
Either Conclusion I or II follows
C
gafei I ead
Neither Conclusion I nor II follows
D

TafEf I iRTFITTR
Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true even if they seem to be at var
2439078 the given conclusion logically follow(s) from the given statements.

Statements:
Some houses are not apartments.

Some apartments are not homes.

12 few e Uy H, S FU F 918 fawed! ¥ IR faded fau U T Smuwt fRT MU Syl B I A R, e € 3 uda 9t ¥ i wella g 81 et fawedt @) ufeu iR o wifere 3 faw o fawedt
T

FY W W T g

$T THM T T T

Some houses are not homes

ErkeigcacE b

B Some homes are houses



O HHH R 3

All houses are homes

Eiifergecoct |

Some homes are not apartments

TS UHH Wie T8 81

Correct Ans : D

Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442665

1. Doctor

2. Recovery

3. Hospital

4. Home

5. Sickness

6. Medicine store

Fraffaa el &1 T aifhe Td srfyef %A § rafyd Fifvm)
1. Sl

2. WA AH

3. Srgar

4. |

5. §iar

6. TAI5E B gFN

1,5,3,6,4,2

1,5,3,6,4,2
5,3,6,1,3,2

5,3,6,1,3,2
4,5,6,1,3,2

4,5,6,1,3,2
53,1,6,2,4

53,1,6,2,4
Correct Ans : D

Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442674

1. Kidney

2. Heart

3. Brain

4, Thyroid gland

5. Liver

Frafefea wedl &1 U diftbe ud rfquf %0 3§ sxafRid @i
1. i

2,80

3. ARaws

4. digEs 7R

5. apd

3,4,2,1,5

3,4,2,1,5
B 3,4,2,51



3,4,2,51

3,2,4,51
C

3,2,4,51

3,2,4,1,5
D

3,2,4,1,5

Correct Ans : B
Subject : Mental Ability

Q.No: 86 A train goes first 100 km at a speed of 10 km/hr and then remaining 160 km/hr at a speed of 40 km/hr. Calculate its average speed.
2427299

TF 7 95 10 fFl/der 3t IR § 100 fFrht ok fR 40 fril/der #t IR § 160 frrf/der 1 YR & ot | g9t i fa &t oM $¥

18 km/hr
A

18 i/ der

17.36 km/hr
B

17.36 fomit/der

18.57 km/hr
c

18.57 f&st/der

21.36 km/hr
D

21.36 fHli/ger

Correct Ans : C

Subject : General Aptitude

Q.No: 87 Which of the following is divisible by 21?

2427588
Frofefaa & § o1 21 3 faursa 82
34879
A
34879
23456
B
23456
98294
c
98294
56427
D
56427

Correct Ans : D

Subject : General Aptitude

Q.No: 88 If a chord of length 16 cm is at a distance of 15 cm from the center of the circle, then the length of the chord of the same circle which is at distance of 8 cm from the center is

2431324 16 Juft daTs B it g9 F Fx F 15 IR B QA W B, 9 0F o1 Sfar o Fx A 8 At I g R R, s I F e

A 10 cm
10 &
B 20 cm
20 It
c 30 cm
30 Ff
D 40 cm
40 3

Correct Ans : C

Subject : General Aptitude

Q.No: 89 A train travels at a speed of 76 km/h. If it crosses a pole in 36 seconds, the length of the train is:
2435973



TH XA 76 km/h @t T d Fert §1 9fE T7 36 Vs & UF W &) UR Fedl B, @ YS! A darg 2

720 m
A

720 m

675 m
B

675 m

760 m
C

760 m

630 m
D

630 m

Correct Ans : C

Subject : General Aptitude

Q.No: 90 A train is running at a speed of 116 kms/hr. The distance covered by the train (in meters) in 18 secs is—
2436003

TF 7 116 frfly/der 3 vfa 90 @ ¥1 18 Y F 1 gR1 fvan Hiex 9 g u 7 s

900 m
A

900

1160 m
B

1160 Hi

508 m
C

508 Ht

580 m
D

580

Correct Ans : D

Subject : General Aptitude

Q.No: 91 A Bus travels at the speed of 36 km/hr, then the distance covered by it in one second is
2436014

T 99 36 .1l /Her @ iy A T §1 95 9% v 9Fvs # faah g aa vl 2

10 m
A
10 Hicx
15m
B
15 Hiex
12.5m
C
12.5 Hicx
13.5m
D
13.5 HicR

Correct Ans : A

Subject : General Aptitude

24“‘3%09520 Flight A usually takes 1 hour more than Flight B to travel a distance of 7200 km. Due to engine
trouble speed of flight B falls by a factor of% th, so it takes 36 minutes more than flight A to

complete the same journey? What is the speed of flight A (in km/hr)?



ITH AT FAIR W 7200 FadieT & g 70 = & BT 339 B ¥ 1 91 30T worar ) o= F
TR AW F 97 ¥ I B H Y 1 F v IR ¥ MY O Irh ¢, sulaw 3w o @ off T F R
330 B &Y 33 A qaen # 36 fAme wfdw we ¥ 3w A (Rewiviterden) & afy s 2

800
A

800

900
B

900

750
C

750

720
D

720

Correct Ans : A

Subject : General Aptitude

Q.No: 93 X takes 5 days more than Y and 9 days more than Z to finish a piece of work. X and Y can do a piece of work together in the same time in which the Z alone can do the work,
2436072

Xt e F A Ay A 5 R oifde qut z 9 9 37 a1 A 31 x qun Y freaR It ord &1 37 ) vy & g1 9va ¢ R I & z oiba ahval 81 A 91 BIfIg X e 39 i &Y e

16
A

16

10
B

10

15
C

15

20
D

20

Correct Ans : C

Subject : General Aptitude

Q.No: 94 [2
2436119
s}
24 days
A
247
36 days
B
36 faT
48 days
C
a8
72 days
D
72 %A

Correct Ans : C

Subject : General Aptitude

Q.No: 95 Daman can do a work in 17 days while Div can do the same work in 11 days. If for completing the work they get Rs.5012. Find Div's share. (in rupees)
2436128

or foreft 1 Y 17 f&f B IR Toa § TEfE dia 11 AT § 39 S B IR Ghar g1 A I FH R FA & g 5012 F92 fireran 7, o 7 &1 frwar id s30(30d H)
A 3043



3043

1969
B

1969

2873
C

2873

2139
D

2139

Correct Ans : A

Subject : General Aptitude

Q.No: 96 The square root of which of the following is a rational number?

2436141
frafofa & e o T TRAT San 37

1250.49
A

1250.49

1354.24
B

1354.24

6250.49
C

6250.49

5768.28
D

5768.28

Correct Ans : B

Subject : General Aptitude

Q.No: 97 Two numbers are in the ratio 4 : 5. If their HCF is 16, then the sum of these two numbers is:
2436143

ST 4 : 5 F 3G B 1 3 ! HewH IHUTAS (HCF) 16 §, @ 37 <A1 Tl &1 i grm:

160
A

160

144
B

144

124
Cc

124

150
D

150

Correct Ans : B

Subject : General Aptitude

Q.No: 98  One-fifth of a number is 62. What will 73% of that number be?

2444527
T GBI HT 1/5, 62 & A IH USAT BT 73% I G ?
198.7

A 198.7

B 226.8
226.8
226.3

¢ 226.3
234.8

b 234.8

Correct Ans : C



Subject : General Aptitude

Q.No: 99 The sum of the squares of 3 consecutive positive numbers is 365. The sum of the numbers is?
2444534 R HunIG YIS G F anil 1 90T 365 81 GBSl 1 A9 &

A3
53
S
°

Correct Ans : B

Subject : General Aptitude

Q.No: 100 What should come in place of the question mark (*?’) in the following number series?
2444656
656, 646, 631, 611, 586, ?

Frefafed Wem yae & uxd g 27 & RIE W &1 S1em?

656, 646, 631, 611, 586, ?

571
A

571

556
B

556

533
C

533

540
D

540

Correct Ans : B

Subject : General Aptitude



